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  �����   :1  
 ��	
 ��
�(S) ���آ� mار���ع �� ����� ����   ��ون 
 = 1.0m  h ا!رض "
�(�, �+*�� ا#()اء .  ��#%	$� #	

  . أ��م /�ة وز�� 
 ــ ��
$�� �$�ه%� ��آ8 ا#67)ر �2د 4$��3 �2آ� 1

  . ��آ8 =6)ر ا#>	; 
  .  ــ أو
� ا#��3د#� ا#�8%�� #<�آ� ا#>	; 2
   �<) ا!رض ؟ه@ ��ة ا#	7)ط  ــ ��3

" ا!رض 4� �#(Bو �%��� ا#>	; �� C	2ــ  أ   

� �3	��D   ــ ��5= �%��� ا#>	; ��   ؟  h/2 ه@ 

 @
3�g =9.8ms-2   
  ����� 2  

 �$�B ��	
  ,��� (S) ���آ� m = 0.5kg  E�� �<) ا!
 ����� ���	�v0 = 15m/s ����� ����7�	� �F�  D)ق 
��; ا#���س ��� . ى ا!%#��  @7D	��# �$	���α =30°(#8او�� 

(S) ك�F�2L�� �F	#وا  .  
    tg φ= 0.1 ���3, ا�F�2Lك 

1  E�� N���%���# ������� S ــ ��
$�� اO3#=� ا! �$� 
    ,  L��,  tg φ,    α      g#� ا#��7د��aا#�	�رع 

2 E��7
� ا�
E�2 �=O أ� ��� ��(
 ــ أو
� ا#�	��D ا7�#
7
� ��)=�D P(� ا#>	; � �=�Q�	�#ا#��ة ا#�8%�� ا N#Rوآ ،
 �D�	�#ا TRه U
7#.  

 �����3   

�� ��<�ك آ���� %�m �
�� ����� A �� ا7%#�� ��ون 
��X, .  ، آ�� D@ ا#FW, أ���� ABMC#��<�ك داV, ��ار 
��3$� ا�F�2Lآ�ت �OV ���3%ل . ا#��<�ك �7%
� ��د�� 

�%� ا7%#
� . ا#<�آ� C[\� L Uز�(# L7^   ا#��<�ك إD �
 . @
3�AB= h =1m و OB = r =50cm و g = 

10ms-2     
 

 
  
1��   �
�� ا#��<�ك D@ ا7%#��  Cه@ 
2 �
  C ــ أو
� ��3د#� �	�ر ا#��<�ك ��3 ا7%#
3 �
�� �	�رع ا#��<�ك D@ ا7%# �$�  ,M �� �#L α ــ 

h,g,r,  
 �����4 


	; آ����  �
 ;��M = 2kg  ى(�	� E�� ,$2 �
� �)ا
 @7D!)ى ا�	$� #��	آ�ت �(��� . ���, ��#%�F�2L�3$� ا�

�� ����� و�%� ا#�<_� ��  t =2sوأن ا#>	; �%
�� ��ون 
ا#�$��ن ا#��#@ ��X, ا#	��� ��L#� ا��8# . �7%
U ا#<$, 

  OVل 3B)د ا#>	; 

 
1 C	2ع ا#<$, وا�
 ــ �2د �	�رع ا#>	; =$, و��3 ا�7

   αا#8او�� 
�� �� �4ف ا#>	; OVل 2(
 ــ أو
� ا#�	��D ا7�#

  . ا#36)د ، أو
� �)�� ا#<$, 
  

 �����4   
7%
� ��د�� � ��*��� �$�B ��	
 U[�(S)آ�  �)��m @D 

�; �<�آ(� ��   . �F#= 1m   Rة /�3�(�Aا��7# 
�� /$� ��D ، ���3%%8#� ا7%#
� 3a(�A(� ا#$��@ �	� 

 ا#��د�� ��ون ا�F�2ك ��E ا#�Fة �<�د �)Ua ��#8اوي

θ  
1 �)<�� ��$3� �
 ــ ��
$�� �$�ه%� ا#
�=� ا#<�آ�� ، أو

  در ا#�Fة   =$, أن �S �#L�� θ�Qا#	��� ل  
��� #���%���N أو
� �3$�� /�ة 2�� ــ ������3ل اO3#=� ا!

 E��   . L�� θ#� (S)ا#7)ة ا#�
$�7 �� �4ف ا#�Fة 
 D (S)@ ا#�<_� ا#�@ ���ك θ �)�D ــ  �	�%�d =��� ا#8او�� 3

  . ا#�Fة 
  

 �����5  
 و��آ�3�m = 200g  8$� �)ا�� �F)�� �� آ�ة ، آ���(� 

 وآ���� �GD �7�3� ،  �#(4 ^�V @l ، ���)=6)ره� 
 �
7%� ��3� �Veف ا�
  .  *���� Oا#

�� �)Ua �)از�� m= 60°    α ــ �$�3 ا#%)اس �8او��1   
 ����� ����  . ا#�أ�@ ا#�	��7 �; �<�رT ��ون 

a ا#8او�� �#L�� ة�F�# ��
 α ــ أو
�  �3$��  ا#	��� ا#\
  . ا#�@ �F)�(� ا#\�^ �U ا#\^ ا#�3)دي 

b2ا#%)اس ��  ــ أ ��� ���%� ��	C =��� هTR ا#	�
. �)Ua �)از��  ا#�	��7 

  1  ا������
��� 	�
  ��آ� ��آ� �
�ر 
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c  Ua(�#ا اRه @D ^�\#ا ��(� ���= C	2ــ أ  .  
2              @� �<�OO' f ــ ��ور هRا ا#%)اس 2)ل �<)ر رأ

�F)ن . أ7D@   دا���� �%�_�� D@ �	�)ىF�G)ن �2آ� 
   .θ  °30 =ا#\�^ �U ا#\^ ا#�3)دي زاو��

  
a ���= fإذا آ�� Lإ �%F�� ��h ا#<�آ� TRــ ��� أن ه 

  ��ω0 =���   #��آ8 =6)ر ا#���F أآ$�ωا#	��� ا#8او�� 
 C	2أω0  

b ا#8او�� ��� �=O3#ا �
 ، ω وا#	��� ا#8او�� θ ــ أو
 C	2أω  

c ����= C	23$�� �)�� ا#\�^ وأ� ^�  .  ــ أ
 �����6   

ا�� =)ة ا�F�2Lك ا#�
$�7 �� ا#(�ف �� هRا ا#����� در
����4 E� �4M=1000kgف ���رة ��<�آ� آ���(�  

 @7Dا#7)ة ا#�<�آ� . أF �7 �� �4ف ا#�<�ك =)ة$
 ا#�
 �)���= ����*F=400N .  

�� ا#	��رة �%� #<_�ت �\���� �<6, �� ,�<	� �%�
��E ا#>�ول ا#��#@  :  

80.0 60.0 40.0 20.0 0.0 t(s) 
16.0 14.0 11.0 6.6 0.0 v(m/s) 

  
 160.0 140.0 120.0 100.0 t(s) 
 19.2 18.8 18.2 17.3 v(m/s) 

 a وا#�	�رع f ــ أو
� اO3#=� ا#<���D ��� =)ة ا�F�2Lك 1
 ���F#واM وا#7)ة ا#�<�آ� F .   

 ��� �=O3#ا d�%��   . F,M,a,fوا

^ ا#�	��Dت 2\� ,X� ــ v=g(t) .   
 20 ، 40 ....��160#��  ــ ا��%�d ا#�	�رع D@ ا#�<_�ت ا3#

  . ��	�ا ا#
���7 ا#�	��3�� 
   ــ �� ه@ =��� =)ة ا�F�2Lك j�� @D هTR ا#�<_�ت ؟ 4
5 E%>%�#ا ,X� ــ f=h(v) ؟ N
��%��   �� ه) ا
  �����7  

 C�B ;	
 ��
%�S ���آ� m �F� ��F%� اL8�Lق D)ق 

8ء �	���7@ أ7D@ و�� 
8ء دا��ي  �� ��(F�BC 

 T8آ��I ��   . r=0,6m و/�3
 �
�, ا#>	; �� ا7%#��A �)���= ��7Dأ ���	� vA=2m/s 

 �
�%� وB)#� إ#E ا7%# ����� ــ ��� أن �DB . 1%�3م 
��E ا#>8ء �2Sآ�  AB ك�F�2�� ;�� �F	�#.2 �� �$� ــ 

  . ϕ وزاو�� ا�F�2Lك S �#L�� g #<�آ� aا#�	�رع 
 C	2اa .  @
3�g=10m/s2و tgϕ=0,25   

��E ا#>8ء S	;  ــ �%8#� ا#>3 BC ك�F�2ون ا�� �F	�# 
 �� �=O
 M ;�3�� f�2 و��� �� ا7%#
� B f�2 vB=0ا�

 �\��ر ا#�	�)ى ا!�3a(�θ=(ΙB,ΙM) @7D ��#8او�� 
 �

�=� ا#)Ua ا#I ��#�7Xا#Rي ��W, ا7%## �3
��  .  

 ;	<�# ��F���F��#ا �=�
 �; D B@ ا7%#
� Sــ أو
� �3$�� ا#
 �
   . DM@ ا7%#
� <�# M �#L�� gθ,r	D ;@ ا7%#
� d�%�v �3$�� ا#	��� ـ ا
 4 �
 BC �%�3م �+*�� ا#	C f�2  θ=θm �F ــ �%� ا7%#

��E ا#>	; S.  ��� N���%���# �����
$�� اO3#=� ا!��B 
     cosθm=2/3 ��� أن Cو
    
  
  
  
  
  
  
  
  

 �����8  
 ��	
 ��
�S ���آ� m=100g �
�� ����� A �� ا7%#�	� 
v0=2m/s . �;	<#; �>�ى �2آ� ا�	7� �F�S E#إ 
���8
 ���, �8او�� BC ، أ7D@ وا#>8ء ABا#>8ء : 

α=30° ����  .  ��#%	$� #��	�)ى ا!7D@ آ�� D@ ا#FW, أ
 S �� A ــ ��3$� ا�F�2Lآ�ت �(��� OVل �2آ� ا#>	; 1 
E#إC . 1_1 ;	<#�2د 4$��3 �2آ� ا S U
7� ���%� 

 �D�	�#اAB=1m . #ا#��3د d�%��  . � ا#�8%�� #�<�آ� وا
 
 
 
 
   . D B@ ا7%#
� vB ا��%�d =��� ا#	��� 2 ـ1

� ا7%#
� 3 ـ1(� C ار���ع E��h=0,2m �$	%#�� 

 @7D!)ى ا�	; . #��	ا#��3د#� ا#�8%�� #<�آ� ا#> �
 Sأو
   . OVBCل �2آ�� ��E ا#�	�)ى 

 ــ �D �$�3@ هTR ا#<�#� أن ا�F�2Lآ�ت OV ���)� ��hل 2
 fr و����ض أ�(� �)اD� =)ة C إ#A E �� �2آ� ا#>	;

�)از�� !�>�T ا#<�آ� و/��(� *���� ، D@ هTR ا#<�#� 
��E ار���ع Sأ��ى7%
� �6, إ#�(� ا#>	;  �
(�

h=0,18m ,���#ى ا(�	��# �$	%#��  .  
�$�3�a1 ;	<#رع ا�	� S ا#>8ء E�� ABو a2 ���	� 

��E ا#>8ء BC .   
��� #1 ــ 2��
$�� اO3#=� ا!��  ��� �=O3#ا �
���%���N أو

a1و a2 .   
 AB=1m إذا آ��fr f أو
� /�ة =)ة ا�F�2Lك 2 ــ 2
      . /g=10m/s2و
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S 

vA A 

θ 

θm 

B 
M 

ِC 

I 
@3
  ا#�	�)ى ا#��

  
A B 

C 

h α 


